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fodw (1) v v aiftrard 2
All Questions are compulsory.
(i) 929 % 1 9 T TS T— (3) SgRAPHedg uA Tl () Raa =m0
gt it |

Question No. 1 contain two parts (A) Multiple Choice questions and
(B) Fill in the Blanks

(iii) 929 — 9o & @oel ¥ f{Quidg 2|
Question paper is divided in six parts.

(iv) o= — 9 H qaT 25 ¥ ©|

In question paper total nos. of question are 25

TUS (3) Part— A
(IS YT 01 AP BT &)

(Each question carries 2 marks.)

9 shHID 01 () qgc\ldvl?'hldv Y2 Multiple choice question
o F 9 9T Aeew g foleg

(A) Select the correct option from the following and write it

() wes 3 wiafskar & wfter =8 € —

CISIERI (&) SR A& AT
(%) riars! (®) aeiexor
Which is nor involved is feedback of customer :-
(a) Follow up (b) Not Answer
(c) Act (d) Categorise
(i) /1 & @ &1 |rerer ST ST SeERV T8 T -
SURAIERD @) TdreR

() e (@) arer de



Which is not Example of social media :-

(a) Facebook (b) Twitter
(¢) E- mail (d) Wall paint
(i) PR ML # WA BN Fhd & —
(37) UTE® HT dReel gar (¥) UTES BT T—Hal
(&) &1 g & a=! (%) BT 7ET
Which can added in customer 1.D. :-
(a) Postel Address of customer (b) E-mail of customer
(¢)a & b both {d) None of these
(v) 771 5 | S T Conflit BT FHR Tel & —
(87) Fexawie () SgroRie
(&) gra (@) gfer
Which of the following is not a type of conflict :-
(a) Interpersonal (b) Intrapersonal
(c) Process (d) Bulling

(v) FgR Wegs | wHel el § —

(&) fafera (@) Wi

(W) foefamz (3) wifterae
Consumer Attitude may not have :-

(a) Belief (b) Feelings

(¢) Behaviors (d) Conlifts

e —1 (§) R =1 &1 i Hig —

(B) Fill in the Blanks :-
1R R R arar T AHRIHS &1 A ¢ |
“ Belief Can be Either-------------- - mem e or negative towards on object.
2 O Aame A aT % I HONE I B |

Interpesonal Conflits rejeres to a Conflict a between two--------======== === cmmmemee -



3Tl cH e dHI A e " s woie. & 1T 91T B ¢ |

Talk time is the duration of time on agent speaks talking with a ----=-========m—mmmmmm e

4. FAAROT f=0 SCTE AT /AT B I € |

Feature are ------------==mm=mmmmem e that your product of service has.

5. AR H UPH HrlehdT. o HIAT & | Tah ST FRIHIT Il &l & |
In Communication one is -------===========mmmmnmumun feedback white after is receiving feedback.

Tug (d) Part— B

JferereRTg wed ®

Very short Answer Question

(IUPH W 02 3P BT 8)

(Each question carries 2 marks.)

Y9 HhHH 2— FAN T 27
‘What is Comminication.
YT HHIH 3— Alshd U FIT &7
What is Active usteming.

T HHIH 4— TTEdH A9 JeRl 3T 57
What is customer Relationship management.

Yo shHTh 5— BT YN Y dlcl AIHS Bl T P i & duld ferfag?

Write two stretegiy to handle confliet of workpalce ?

YT HHIB 6 — UTSd YadT Bl IRTIRg g ?

Degine the customer Attitude.

g () Part—C

ST YT

short Answer Question

(JTH WE T TR 3 3B B 1)

(Each question carries 3 marks.)
e HATE 7 — AlNTgel BE & gERom falag?

Write the Disadvantange of Mobile phones?

YT HHIB 8 — USUA DIl Pl URAT™T BHiforg ?

Degine presentation Skill?

Y HAS 9 — [P SE D SR Ih! THhe1h o T T TSI 87
What do you understand by dabulus selling teachniques of a product?




Y% shHId 10 ‘— Repeat call @r%ﬁmﬁwﬁ%@ml

Write the draw book of Repeat call?

Y HATE 11 — AGHG DI GAIAT HR dTel fhsl 4 SRS DT G 95y 2

List any three factor affecting conflict?

T9E (€) Part—D

TEITRT YA &

short Answer Question

(P U IR 4 b T )

(Each question carries 4 marks.)

U HAG 12— AR B H 9 M alel ol i I SYAMIET i g
BIQ?
List the asability of basic elements available in mobile phones?
3ferar (oR)
HTer B B o B e D ?

List the advantage of mobile phones ?

WS hHTh 13— Policies 3N Guidelines § 3dN T EF%'R!TQ?
Differetiate between policies of Guidilines?
3ferar (oR)
TRAI 3R Rules § TerT PHIAQ?

Compare the Rules and Regulation of TRAI?
Ue D 14— bl TR Telipia RIemR &1 gub S |

Describe any four telephone Etiequeltes.
3ferar (oR)
T dE ® AR @ T Bl aney, fhwl aR faeget @
T BT |

U3 HHIB 15 — MTD YOIl bl IS |

Explain the MTD system.?

3rerar (OR)
YTD WUITeiT &1 IH3SY 7
Explain the YTD system.
U 1P 16 — USPC T qui HIfoTg?
Describe USPC?
3rerar (OR)
USPC ! FHIC B DT IUHIRT BT ol HIfoTg?

Describe the stretegiy do promot the USPC?



YT HHATS 17 — COllDA U © ISR D Jaidid iy |
Represents the type of Telecom customer?
31T (oR)
UTED BT BRI UHa B & BRI B TGRid HIreTg?

Represents the types of collecting customers ingormation?

Y% THH% 18 — Neotiation process § AT f%lrg'i’:ﬁ 31 ferfag |

Write the point innvoved in negotiation process?
31T (oR)
Negotiation skill BT Iggirar ferfeag ?

Write the usability of Negotiation skill?

g (3) Part—E
DETTRIG W B

Long Answer Question

(P I IR 5 37h 2 )

(Each question carries 5 marks.)

Ue D 19 — Android Os & [hvs] U=l HIBROT BT fagelyor Hifog?
Analize any five version of Android Os?

31T (oR)
Symbion Os & fhwg! U= H¥H_vT B fazeryor Hifg?

Analize any five version of symbion Os?

U¥ HAS 20 — Call Handling Report # el fovgall &1 aviF #ifog |

Describe the points involved in Call Handling Report?
JTIET/OR

Call Quality Scores BT TuIF HIFNY |
Describe the Call Quality Scores?

Y HHAD 21 — FAGHGT DI q¥ IRA D Dy I [ Jagy OrAHT 9w\
B B?
List any five ways to solve the conflict on which of are agree ?
JIT/OR
qavg @ fhea! 99 YRl B el HIg |

Compare any five types of Conflict.




U A 22 — Afhd /a0 B JHIIT B aTel Ui BRDI BT goid BT |
Describe five factors attecting active listening?
37erdr1 / OR
AhaT ST & WIRI BT G0 BHITTQ?

Describe stages of active listening?

e THHI®H 23 — Brand visibility BT FHIAT 3 aTel RSB BT TAREL?
Explain the factors attecting Brand uvisibility ?
37erdr1 / OR
Brand visibility fafa=1 wa=1 @ ¥Hs3Q ?
Explain the stages by Brand visibility?

TUS (Ph) Part—K
TETRIT Y3 — (AP T TR 6 3P & 1)

Long Answer Question — (Each question carries on 6 mark.)

U HHD 24 — REIR D [del B TN AR A9 Fred Taraedi d Ieord
CAINING
Mention any six division of Telecon and their Activity ?
31e7q1 / OR
SLA @ T 9l BT Seeia HITY?
Mention different types of SLA?

U3 HHIh 25 — Escalation matrics T € | ?RTC% T =t HHHST?
What isn Escalation matrics? Explain its pyramid?
31e7q1 / OR
Report Analysis T g7 Swot Analysis Gl HASATRY T -
What is report Analysis Explain swot Analysis
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fodw (1) v v aiftrard 2
All Questions are compulsory.
(i) 929 % 1 9 T TS T— (3) SgRAPHedg uA Tl () Raa =m0
gt it |

Question No. 1 contain two parts (A) Multiple Choice questions and
(B) Fill in the Blanks

(iii) 929 — 9o & @oel ¥ f{Quidg 2|
Question paper is divided in six parts.

(iv) o= — 9 H qaT 25 ¥ ©|

In question paper total nos. of question are 25

TUS (3) Part— A
(I YT 01 AP BT &)

(Each question carries 2 marks.)

9T shHID 01 (3) qgadvl?"-ldv Y2 Multiple choice question
= 9 9 ) [Aeew g foleg

(A) Select the correct option from the following and write it

() ¥R =1 uihar § mive 781 § —

(37) 9 C)RISES

(&) HregH (®) ¥R
Which is not a part of Communication process :-

(a) Sender (b) Receiver

(¢) Medium (d) Noise

(i) YTD &7 9o &9 & —
(31) Year till Date (§) Year to Date
(Q:T) Year the Date (‘q’) El'ﬁ'sf CEl



Full from of YTD :-

(a) Year till Date {b) Year to Date
(¢) Year the Date (d) None of these
(iii) Sl Faex § UEd & UHR & —

(@) WIS wES (3) 9ruS UED
(\) s uEs (@)

Types of customer in Telecom sector :-
(a) Prepaid customer (b) Post paid customer
(c) Fixed prepaid (d) All

(iv) YT D Q@E‘Egg # wffer § —

(37) FaER CIRICEI
(&) faegr (®) wi

Parts of the Consumer attitude :-
(a) Behavier (b) Feelings
(c) Belifs (d) All

(v) A% Hiosmel § A § —

(a1) AT (&) g1 BT 3T —Ha™
(@) T e (@) wf

Succfull — Negotitation invalves :-
(a) Prepration (b) Exchange the information
(c) Closing (d) All

e —1 (§) R wm=1 @7 gid SHig —

(B) Fill in the Blanks :-
1 AR AT BRA BT &7 RGBT UihaT T |
In Communication------=========mmmmmmm e sharing in two way process.
2. MTU ST 01 ®9 Mounth TO..........cooooorioeiee g |
Full from of MTD is mounth To-----------m—mm e
3. AT BT o o B g Svas o g wRd g
Escalation team work o ——-——====m=mm e the problem
4 UPH TRY o IR el IITART BT " o AT STl © |
Healthy -------=====mem e e and  --------emme- - Relationship can be built the help of negotitaion.
5 SR WENT BT SH P YSIE R TaRADH YT 98T © | In

---------------------- and-------------Conflicts have Negative effeeeeeect of team performance.



g (d) Part—B

TEITRT YA &

short Answer Question

(YD W 02 3 T ©)
(Each question carries 2 marks.)

YT P 2— Hialshar T €7
‘What 1s feedback.
U P 3— foIlNgd TR Hi 9RITNT He?

Define the written Communication.

T 1D 4— DHicl — HIENRT I 947 qrd 87
What is Call Monitaring?

J¥ HHP 5— WO DiAbade (Wihar dem) =1 87
What is process Conflict?

Uv HHDH 6 — ' HEAS (BT &1 o aad § 7
What is the meaning of feeling.

ug (F) Part— C

TEITRT YA &

short Answer Question
(FUP I IR 3 37h 2 )
(Each question carries 3 marks.)

Uw HHD 7 — Uglns Os D fhal diF doid iR 396 iy forfeg?

Write down any 3 Andraid versions and thiey features?

U AR 8 — fraf~iT &Y wishar &1 wHsgy ?

Explain the Listening process?

e HHG 9 — FS — GIAAT 9@ & &FT oM BRI ©F

What are the advantages of incrasing Brand Visibility?

9T B 10 — Ruie FifFeRT @ g 87
What is Repart Monitring

e HHD 11 — Aa¥el B el 3 SR B G 9915 7

List any three main causes of conflicts?



g (€) Part—D

ST YT

short Answer Question

(FUP I IR 4 376 B )

(Each question carrics 4 marks.)

g% HH® 12— SLA (A4 e TfiHe) & 4 oecd 91 87
What arethe 4 different component of SLA?
eTdT (OR)
SLA b 4 WhRI & FIHET ?
Define 4 Types of SLA ?

U HHIBR 13— UTEd P a1 & Iefd fhal 4 mazhary & forlRay?

Write any 4 service Related needs of Customer?
317 (OR)
SR AN BE § e 4 R forlkaa?

Write any 4 feature of Basice Mobile phone?

Yo hHIB 14— Bl 4 BreErR ey g oy er w® wefl¥fg &3 |

Write down any 4 cfiuettes that you need demonstrate home
317 (OR)
e & wefdag & arel &g 4 RemR 993 |

Write any 4 ctivettes for demonstrate at office
e HAG 15 — D AN IIKe & 4 =01 forlad |
Write any 4 Steps for uniqe selling point?

317 (OR)
USP & VIR &I g 4 YoMiaar ferfead?

Write down any 4 stratigles of USP promotion

Yo b 16 — MTD Bl IV ded Tasgd?
Explain MTD with Example?

erar (OR)
YTD &1 SeTExv Afed THssd?
Explain YTD with Example

YT HAD 17 — IS RAAR IOIR H YT8HI & IHR A |
Explain the type of customers in today telecom market?
317 (OR)
SWOT fazeiyor ® FHsga?
Explain SWOT Analysis?



Ue HADB 18 — AHed ANG Fade AR FHE a8 Aa¥e d AR T PN |
Diffrentiate between intergroup and intergroup coflict?
31T (oR)
foeare ok IR B JorT w2

Compare Belif and Behavier?

TS () Part— E
FETTRT U

Long Answer Question

(FUP U WX 5 b & )

(Each question carries 5 marks.)

e HHB 19— TH —BhH BT [TRR 86 FHsgd?

Explain Brifly about Resistive Touch - Screen?

erar (oR)
HURcd ¢ B & IwWR g@d F9s1337

Brifly Explain Capactive Toch- Screen?

YT eI 20 —Yole g WIge &) JaRT B &Y & |
How to prepare Presentaion Slids?

IIIT/OR
WIS YoivCe By 99T STl & |

How to make slide Presentation?

e HHIEH 21 — SIS —GIIl BT JATIT HR alel 5 BRS TolRey?
Write down 5 facter that influence Brand visibility ?
JIIT/OR

HIS —SIdl & 9gM & ol Bl 5 dRid feTred?

Describe any 5 way of improving Brand visibility.

YT HHIh 22 — URIYH Hifiged @l fwmR 3 a9smga?
Explain Brifly about escalation matrice
37erdr / OR
fRurd fazeryo o) fowaw ¥ Fasga?

Brifly Explain Repart Analysis?

YT HHE 23 — Udh AHa IRIBR 94 @ (o1 aegd HIerel Bl qoi B |
Decribe the 5 skill Required to become a sucessefull Negotitar ?

37erdr / OR
qOWGT DI GR BRI B TRIDT DI FHIARY 7

Explain the difference 5 styles of conflict Resolution?



s (b) Part—K
TR Y9 — (AP Y9 TR 6 3P & 1)

Long Answer Question — (Each question carries on 6 mark.)

YT HHB 24 — HAdsel B B A ®rael o g9smsa?

Explain different advantages of mobile phone ?
372191 / OR

1 &1 9o\ IR —

(1) <" — 39

(il) werer SR® arg=r

(i) wew gk

(iv) AleTSel gee

V) e Aege Rar

(vi) STCT =i

Explain Brifly :-

(1) Top-up

(11) Special Traiff Vocher

(111) SMS

(iv) Mobile internet

(V) Online mobile Recharge

(Vl) Data plan

e I 25 — YNl 2vSd CIgH &I [AWR Jad d9s15?
Brifly Explain Avrage Handle time?
31efdT / OR
TEOTE Uihar § $F 9 fiifaitnd vt § aRggs wH ssa?

Explain Brifly Different Activities in escalation process?



